PHYS101.15
QUIZ#8- CHAPTER 9
DATE: 10/5/09

Name: KQ\{ 1d#:

Consider a 4.0 kg mass having a velocity of (4.0 i) m/s that explodes into two 2.0 kg masses. After the
explosion, one of the masses has a velocity of 3.0 m/s making an angle of 60 degrees with the positive x-

axis.
(a) What is the magnitude of the velocity of the other mass after the explosion?
(b) What is the velocity of the center of mass?
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A 2.0 kg ball moving horizontally with a velocity 20 i (m/s) strikes a vertical wall. It bounces off
with a velocity =10 i (m/s).
(a) What is the change in momentum of the ball?

(b) If the ball is in contact with the wall for 0.30 s, what is the magnitude of the average force
exerted on the ball by the wall?
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A 20 gram bullet is shot in the +x-direction with a speed of V, = 600
m/s into a stationary block of wood that has a mass of 4.0 kg. The ke i
bullet embeds itself in the black. What distance (d) will the block

slide on a surface having a coefficient of kinetic friction equal to 0.47 (——)\m el
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